Practice Queries

Consider the following tables.

st udent enrol | edl n subj ect
id | name id | code code | lecturer
1234 | joe 1234 | €s1500 cs1500 | curtis
4000 | hector 1234 | cs1200 cs2001 | dave
2000 | ling 1234 | €cs2001 cs3010 | curtis
4000 | cs3010 €cs2001 | olivier
4000 | nma3000 nma3000 | roger

curtis
dave
olivier
roger

cs3010 | curtis
€cs1500 | Curtis

There are two ways to get thistable. Try to list both. Hint: Use an OR in the selection
condition for one method.




1234 | joe
4000 | hector

5.
id | name | id | code
1234 | joe | 1234 | cs1500
1234 | joe | 1234 | cs1200
1234 | joe | 1234 | cs2001
1234 | joe | 4000 | cs3010
1234 | joe | 4000 | nma3000
6.
id | name | id | code
1234 | joe | 1234 | €s1500
1234 | joe | 1234 | €s1200
1234 | joe | 1234 | cs2001
7.
id | name | code
1234 | joe | cs1500
1234 | joe | cs1200
1234 | joe | cs2001
8.
id | code
1234 | ¢s1500
1234 | c¢s1200
1234 | c¢s2001
9.
id | name | code | lecturer
4000 | hector | cs3010 |  curtis
4000 | hector | nma3000 | roger
10.
nane | | ecturer
j oe | curtis

hect or | curtis



